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Illustrations

1. Plot 

Watch Video Solution

y = |x|, y + x − 2|, andy = |x|2|

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_SCcrZwQ0n9K0


2. Draw the graph of .

Watch Video Solution

y = sin− 1(x − 3)

3. Draw the graph of ,

Watch Video Solution

y = loge(x + 3)

4. Draw the graph of

.

Watch Video Solution

y = cot − 1 x + sec− 1 x + cos ec− 1x

https://dl.doubtnut.com/l/_OYFE4HeB10CQ
https://dl.doubtnut.com/l/_6qXI5cGi86kh
https://dl.doubtnut.com/l/_7vphaOQrNDFe


5. Draw the graph of .

Watch Video Solution

y = |x − 3| + 1

6. Solve  graphically

Watch Video Solution

3x + 2y > 12

7. For  jdetermine all real roots of the equation 


Watch Video Solution

a ≤ 0,

x2 − 2a|x − a| − 3a2 = 0

https://dl.doubtnut.com/l/_iewCLAco4Wh3
https://dl.doubtnut.com/l/_FVsrV8eRnvIw
https://dl.doubtnut.com/l/_PxnqAeeFFtvu


8. Consider the function

denotes the fractional integral function and 
is the set

of integers. Then find

Watch Video Solution

f(x) = {x − [x] − , if x ∉ Io, if x ∈ I, where[.]
1

2

I

g(x) = max
.

x2, f(x), |x|; − 2 ≤ x ≤ 2.

9. If , then 

is

Watch Video Solution

f(x) = 2x + 1 and g(x) = x2 − 2 gof(x)

https://dl.doubtnut.com/l/_xHNXfPatq2TA
https://dl.doubtnut.com/l/_cSE6ss1gDGuc


10. Find angle between the vectors ,When

 and 

Watch Video Solution

→
a = î − 2ĵ + 3k̂

→
b = 3 î − 2ĵ + k̂

11. Draw the graph of  and compare

with .

Watch Video Solution

y = 0.5(x − 1)2

y = (x − 1)2

12. Plot 

Watch Video Solution

y = sinxandy = sin 2x.

https://dl.doubtnut.com/l/_62zQ0vQ1lMwX
https://dl.doubtnut.com/l/_UeEUtN6dgnj8
https://dl.doubtnut.com/l/_5xeBqn2bUbxD
https://dl.doubtnut.com/l/_p7t1kAKws9Pm


13. Find fog(x), if f(x)=∣x∣ and g(x)=∣5x−2∣

Watch Video Solution

14. Plot the curve 

Watch Video Solution

y = (log)e( − x).

15. To draw the graph of y
=
log
e
(
−
x
)
 , flip the graph

of y
 =
 log
 e
 x
 over the y-axis shown in the following

figure.

Watch Video Solution

https://dl.doubtnut.com/l/_p7t1kAKws9Pm
https://dl.doubtnut.com/l/_ExoGfaICf8zv
https://dl.doubtnut.com/l/_7ieOMZUj4Gst
https://dl.doubtnut.com/l/_n4UqtYyy6wth


16. Find the value of k for which the equation

 has distinct roots.

Watch Video Solution

x2 − 6x + k = 0

17. Draw the graph of .

Watch Video Solution

y = − cot − 1 x

18. Draw the graph of .

Watch Video Solution

y = − loge x

https://dl.doubtnut.com/l/_n4UqtYyy6wth
https://dl.doubtnut.com/l/_OdbaoKz1mzi2
https://dl.doubtnut.com/l/_M2Tvpe4mjZ8M


19. Draw the graph of .

Watch Video Solution

y = 2 − |x − 1|

20. Draw the graph of .

Watch Video Solution

y = sin− 1(cos x)

https://dl.doubtnut.com/l/_3CRr1MpaF6xi
https://dl.doubtnut.com/l/_hHLO9bIuHs8Z


21. Given the graph of . 


 


Draw the graphs of the followin. 

(a)  (b)  


(c)  (d) 

View Text Solution

y = f(x)

y = f(1 − x) y = − 2f(x)

y = f(2x) y = 1 − f(x)

22. Draw the graph for 

Watch Video Solution

y = |logx|

https://dl.doubtnut.com/l/_klY7YZH3Hgnd
https://dl.doubtnut.com/l/_OVyApNHVC20v


Watch Video Solution

23. Draw the graph of  and hence the graph

of .

Watch Video Solution

y = |sinx|

y = sin− 1|sinx|

24. Draw the graph of 

Watch Video Solution

y = f(x) = √1 − cos x

25. Drew the graph of .

Watch Video Solution

y = |sinx − 0.5|

https://dl.doubtnut.com/l/_OVyApNHVC20v
https://dl.doubtnut.com/l/_OOwQIAfEbL5Y
https://dl.doubtnut.com/l/_tOMqwEpgt5Hx
https://dl.doubtnut.com/l/_NSemG57xnu0m


26. The number of solution of  where 

 is/are

Watch Video Solution

2 cos x = |sinx|

x ∈ [0.4π]

27. Solve 

Watch Video Solution

∣∣x
2 + 4x + 3∣∣ + 2x + 5 = 0.

28. Solve 

Watch Video Solution

cos 2x > |sinx|, x ∈ ( − , π)
π

2

https://dl.doubtnut.com/l/_Hs8KRIeTYpmo
https://dl.doubtnut.com/l/_Gmbx0xl7eYGB
https://dl.doubtnut.com/l/_fMFSkRXS2xEg


29. Prove that the equation 
 has not

solution for 

Watch Video Solution

2s ∈ x|x| + a

a ∈ ( − ∞).
3√3 − π

3

30. Solve  graphically.

Watch Video Solution

∣∣x
2 − 1∣∣ + ∣∣x

2 − 4∣∣ < 6

31. Discuss the differentiability of

.

Watch Video Solution

f(x) = mim. {|x|, |x − 2|, 2 − |x − 1|}

https://dl.doubtnut.com/l/_rpPD3YQ4ihwF
https://dl.doubtnut.com/l/_UAnv5oveRkuO
https://dl.doubtnut.com/l/_LlBtzLXfSIKW


32. If the equation 
 has four real

roots, then `b^2-4c >0a n d00a n dk >(4c-b^2)/4`
none of

these

Watch Video Solution

∣∣x
2 + bx + c∣∣ = k

33. Sketch the curve 

Watch Video Solution

y = log|x|

34. Draw the graph of .

Watch Video Solution

y = sin|x|

https://dl.doubtnut.com/l/_xK62ShA2sPEQ
https://dl.doubtnut.com/l/_xVkyHPJHZs3G
https://dl.doubtnut.com/l/_NloWok9dtbnj
https://dl.doubtnut.com/l/_IsbT1Ls4lAgc


35. Draw the graph of , where  denotes the

greatest integer function.

Watch Video Solution

y = [|x|] [. ]

36. Draw the graph of .

Watch Video Solution

y = sin− 1|x|

37. Draw the graph of .

Watch Video Solution

y = tan− 1|x|

https://dl.doubtnut.com/l/_IsbT1Ls4lAgc
https://dl.doubtnut.com/l/_C9GEaRZy6Klz
https://dl.doubtnut.com/l/_jY9Uie5VEL0l


38. Draw the graph of , where  represents

the fractional part function.

Watch Video Solution

y = {|x|} {. }

39. Draw the graph of the function:

Watch Video Solution

f(x) = ∣∣x
2 − 3∣∣x| + 2|

40. Draw the graph of .

Watch Video Solution

y =
∣
∣
∣
1 −

∣
∣
∣

1

|x| − 2

https://dl.doubtnut.com/l/_Z2ZpDQ4YUt3r
https://dl.doubtnut.com/l/_S23JkRGz89Cm
https://dl.doubtnut.com/l/_zWNk84dmQwPq
https://dl.doubtnut.com/l/_q4WsducjCcJO


41. Draw the graph of .

Watch Video Solution

|y| = ∣∣2
|x | − 3∣∣

42. Find the total number of solutions to

.

Watch Video Solution

sinπx = |In|x ∣ ∣

43. Find the number of solutions to

.

Watch Video Solution

7 |x | (|1 − |x ∣ ∣ ) = 1

https://dl.doubtnut.com/l/_q4WsducjCcJO
https://dl.doubtnut.com/l/_n2yAixKhlBWk
https://dl.doubtnut.com/l/_TMamuxldICrs
https://dl.doubtnut.com/l/_bnfZ7Y2rWdB1


44. The graph of the function  is shown. 


 


Find the number of solutions to the equation

.

View Text Solution

y = f(x)

||f(x)| − 1| =
1

2

https://dl.doubtnut.com/l/_bnfZ7Y2rWdB1


45. Consider the function  where 

, then match the follwoing columns. 


Watch Video Solution

f(x) = x2 + bx + c,

D = b2 − 4c > 0

46. Draw the graph of .

Watch Video Solution

|y| = sinx

47. Draw the graph of .|y| = tanx

https://dl.doubtnut.com/l/_obfsDr8Zym4w
https://dl.doubtnut.com/l/_HWOt8elbPR6C
https://dl.doubtnut.com/l/_Ex1BTJakzK46


Watch Video Solution

48. Sketch the curve 

Watch Video Solution

|y| = (x − 1)(x − 2).

49. Draw the graph of , where  represents

the fractional part function.

Watch Video Solution

|y| = {x} {. }

50. Draw the graph of .

Watch Video Solution

|x| + |y| = 1 + x

https://dl.doubtnut.com/l/_Ex1BTJakzK46
https://dl.doubtnut.com/l/_jp8g805rD7X4
https://dl.doubtnut.com/l/_PUJqg1GnFPjK
https://dl.doubtnut.com/l/_xChlQdwgntqg


51. Draw the graph of  using graphical

transformation.

Watch Video Solution

|x| − |y| = 2

52. Draw the graph of .

Watch Video Solution

y = ∣∣2
|x | − 3∣∣

53. Given the graph of the function , draw the

graph of . 

y = f(x)

y = sgnf(x)

https://dl.doubtnut.com/l/_xChlQdwgntqg
https://dl.doubtnut.com/l/_BTxt1aLxeBLB
https://dl.doubtnut.com/l/_162ISWhamRCF
https://dl.doubtnut.com/l/_6AvokMnpxK77


Watch Video Solution

54. about to only mathematics

Watch Video Solution

https://dl.doubtnut.com/l/_6AvokMnpxK77
https://dl.doubtnut.com/l/_HzXZgdTkEmue


Exercise

55. Draw the graph and discuss the continuity of


 where [.]

represents the greatest integer function.

Watch Video Solution

f(x) = [sinx + cos x], x ∈ [0, 2π],

56. Let  and 

. Write down the formulae

for .

Watch Video Solution

f :R → R : f(x) = (x + 1)

g :R → R : g(x) = (x2 − 4)

(fog)

https://dl.doubtnut.com/l/_p0stISYQurhF
https://dl.doubtnut.com/l/_ALvJAxUtIo33
https://dl.doubtnut.com/l/_ubfUJbtxDtrZ


1. Draw the graph of .

Watch Video Solution

y = tan− 1 x − cot − 1 x

2. Draw the graph of .

Watch Video Solution

y = |x|

3. Draw the graph of

.

Watch Video Solution

y = tan− 1 x + cos − 1 x + sin− 1 x

https://dl.doubtnut.com/l/_ubfUJbtxDtrZ
https://dl.doubtnut.com/l/_JmBk4DUNSBRI
https://dl.doubtnut.com/l/_Q0xBfr308rWl


4. Draw the graph of .

Watch Video Solution

|y| = (x − 1)(x − 2)(x − 3)

5. Draw the graph of .

Watch Video Solution

y = sin− 1(x − 3)

6. Draw the graph of .

Watch Video Solution

y = cot − 1 x

7. Draw the graph of .y = |loge(x + 3)|

https://dl.doubtnut.com/l/_uCE8qCDwDdbG
https://dl.doubtnut.com/l/_IZXPDY5O6pew
https://dl.doubtnut.com/l/_urQ0EKAEwtZS
https://dl.doubtnut.com/l/_uHClWpJOagDf


Watch Video Solution

8. Draw the graph of , where 

represents the fractional part function.

Watch Video Solution

y = |{x} − 0.5| {. }

9. The number of real solution of the equation

Watch Video Solution

√1 + cos 2x = √2 sin− 1(sinx), − π < x < πis

https://dl.doubtnut.com/l/_uHClWpJOagDf
https://dl.doubtnut.com/l/_RLcOtq10Ot55
https://dl.doubtnut.com/l/_VUW8MGBqgqTU


10. Find the number of real solutions to the equation

.

Watch Video Solution

log0.5 x = |x|

11. Find the number of points where the function

 is non-differentiable in

the interval .

Watch Video Solution

f(x) = max |tanx|, cos|x|)

( − π, π)

12. Find the number of points of non-diferentiability for

.f(x) = max {||x| − 1|, 1/2}

https://dl.doubtnut.com/l/_NdbAHFTDsEMq
https://dl.doubtnut.com/l/_4jmUsqk4kTWo
https://dl.doubtnut.com/l/_VGuM5a5hwpGw


Watch Video Solution

13. Let  then number

of points where  is non derivable, is :

Watch Video Solution

f(x) = max . {∣∣x
2 − 2∣∣x||, |x|}

f(x)

14. Draw the graph of , where [.] represents

the greatest integer function.

Watch Video Solution

|y| = [x]

https://dl.doubtnut.com/l/_VGuM5a5hwpGw
https://dl.doubtnut.com/l/_VtZ5NHgaRyMi
https://dl.doubtnut.com/l/_6fA3BBeuiR6W

